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Passage:

= i 3 U TR #Y UgHR gy T URAl & 9ed Siud IR ard [awed! &1 997 sifon-

fay TRy W (WHO) e WY 3 T ARy Torl 7, S SiaRisia Srdaifies Wred ¥ Teiftd 81 39a! ®iIuer 1948 # g3 o oiR 561 geay M, fesRds & §1 WHO &1 SR
ATD e & YR R P BT ¢ NP WY Pl §GIaT fedm S b, g bl GRIG T ST b 3R HASIR NIl b1 Jal BT ST Fob | WHO T+t @it & e o 3R sedor &) sl
3 & R 3T 1R Y WBRY SR UMiER & Y BT FRT 81 WHO & 19 F 7T a5 § i §:

1. SI-UISus%HH & daid W=y B §erdl o

2. TF Aoqy Wfie W@y @I eI gREd s

3. YA WM BT ghTaam

4. 3IHT Wy yunferdt & fmior # = &1 wmda

5. TR 1T UMY 1 are A

6. WHO ared it & i W it anfaxi uem o1 8, S & carsit ok g Wi a% ugl

fay wreg W (WHO) T RITHT 1948 W TG Y (YT) BT o IR Toieh & & H WHed &Y §61d1 o, WG TeR! ¥ T 3R Tl Tl Y SM1a=ass Wi TaHI UEH B &
forw &t € 1 WHO & B rdshd 3R seie W ==l B 3R Fufa 39 & Rig wHO % Jew e 3y ey g1 & ufday fier 8 IWHO &1 wrufiies s gart I W 7, a1 9w
T I g e § oikd foran o GadT 8, 99 o qfees, Taemddt / vem, mafkar SiR difert WHO I1q Td RIg Ty, Gioor 3R aTe TRl & R a iR R urit ofR tawsdr ad
Uga g wA & forg ot B Frar §1 81 & ant H, WHO §d I, FIR SR Ayde o TR-TaRY AT (i) @t Gt v # Isht § 9tk Y61 8 1fay TR W sifiieiw Al & forg
TR RER B, bR 1t 3% SR Shadieh & sead S8 YHuH Siel, W 3MER T AR Fafiid oahm Ba I AT S Il 81

Q.No: 1 . X
370530850 8 T el 7 & Iudad meiw & forg Ifrd <iiep @ 7o Bl

A fay w=a wred
B TR, MY 3R WTeT GRET & GUR
C T} A0 a6 g
D TS} &1 HeteE

Correct Ans : A
Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

= i 3 TTu TR Y UeHR gy T URAl & 9ed Sfd IR ard [awmed! &1 997 Sifn-

fay TRy W (WHO) e Y 3 T ARy ol 7, S Siaeisia rdaifies Wred ¥ Weiftd 81 39! ®iIuer 1948 7 g8 o oiR 561 geay M, fesRds & §1 WHO &1 SR
AT TeT F 3MYR W P BT § AP WA 1 TgTaT {331 o1 T, g o1 Jfea @1 ot T 3R FHSR AN b1 Jar 3T o G| WHO et At & e Ty oiR eanr &1 sgran
3 F R 3T 1R B WBRY SR UMiER & Y BT FRT 81 WHO & 19 F 7@ a5 § <nfire &:

1. S1a9-UTeUsHH & TAd WA H §gTdT 1

2. T oy WfHe W@y @I eI gREd s

3. AR I BT gHTaem

4. 3IHT ey yunferdt & fmior § =0 &1 wmd

5. @R MUt UMY 1 are &

6. WHO W =iifd % ggf W oft Anfeeia uer oxar 3, 99 & asit ok wres feife) 96 uga

fay TRy W (WHO) T RITTT 1948 W TG Y (YT) BT o fINY Toleh & & H W &) §61d1 o, WG WR! § FaM 3R Tl Tl Y SM1a=ass Wi TaHTe UEH 3R &
forw &t € 1 WHO & &1 rdshd 3R seie W =l B3 3R Fufa 39 & Rig wHO % Jew e fay wreg g1 & vfday fier 8 IWHO &1 wrufiies s Sart I | 7, a1 9w
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e I g e § ik foran o Gavd 8, I o qofess, Taemsdt / vgm, mafkar siR diferd wHO 1q Td RIg e, Tt o @Te Rl & R am SR R urht ofR awsdr as
T YA B & U oft S FRaT ¥ 919 & a8 H, WHO &T T, HIR 3R AYHE S8 TR-TE I (TR ) eifia = o ol & 9fna ve1 21y TR W it Ot &
TS R B, R off 3% oraR Siaiel & seama S ygu Bie], W 3ER TH 3R Fafid =M w3 3 AT o JHar 3

Q.No: 2 . . !
370530851 ST T & STER, fy W Giew o1 e e F 9§ @ g

A AFIS [T & MUR TR T =0T Bt Wl Tt B o veE w0 9|

B AWITS TGT B YR TR BRI BT @ AP TIRA B gg1aT i1 S T, g B YR @1 off T& AR SHIR aRil Bt Jar Bt o Tb |
C Ry wrwa wTeT 1 WURE TR ¥ WTO ¥ 1Y B Fe|

D Ry wrea e 1 wAfE SRS A @) fRiw ¥ wRepd $31 81

Correct Ans : B

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

A R feu U TR ®Y UgdR U@ T URAl & Wed Sfud IR ard fawed! &1 997 Sifon-

fay TRz WTaT (WHO) g 18 &1 T Ay woidt 8, S Siagia wdorfaes W & Sefid 31 39@! R0 1948 H g8 <0t ok 39T gearery fomar, facerds & 81 WHO &1 SHIe=
IS e B MYR R T BT § NS TR BT ggral fedm S b, gl Bl GRIG T of T 3R HHGR ANl BT Jal SIS Gab | WHO It @it & e W 3R T &) sgral
3 ¥ i gfFen R B WBRY 3R UrieRt & Ty S Fa1 71 WHO & $TH & T 831 & =i &:

1. Si-UTSusHH & deid WA B §ral ol

2. T% Aoqy WHe W@ ST EPHion gREd s

3. TERY I BT gHTaar

4. I WrRA yonfed! & et & 4= &1 §medA

5. Wy 3T RURT &1 Sare &

6. WHO ared i & i w oft urfaxi vem &xar &, 99 & qarsit ik ey weifie! a% uga|

fay w@TRg WIBT (WHO) Bt RITTT 1948 H T WY (YT) B o fINY Toiet & &Y H WA $ Fg1d1 &, WA TR! Y T 3R THi Tl 31 S1a<as W@red T@HTA TaH HA &
forn @t 78 1 WHO & &1 #fepd iR aole W == w4 3R vl a9 & fRIT WHO & e Ioa fay wares g1 # ufday firerd € IWHO &1 wifiies e Tardt i R &, a1 1% w
e I g afed & uilka febar o e €, SR o a0fees, wgemrdd) / usw, maRar ok Gl WHO AIg ud Y] wres, Givor ok @ JRem & GUR a3k Qi o ok Wwsd1 deb
UgT AT A & g +ft 1 wrar ¥1 81 $ anf H, WHO &g I, $IR SR Ay SN TR-Tr) AT (TfiEh) @t Geiftd v & asht § 9ithg 361 81fay TR W sifiieiw @il & forg
TS SmieR €, fhR off 3= SRR SR # Jodia S YHuH BieHT, TR 3MER T SR it samm &a ¥ AT S Jabell 31

Q.No: 3 . . . s A
370530852 STAT T & SRR F  @F-w1 oy e Ho & wrf & we & F v T e

A SHE e yonferal & frafor & 3= @1 gwd)

B @y 3T fRAf &1 ware 1

C Fad IR-FARY I BT Goraen HRATI

D TP AOgd WTATHe WA ST EfPIor GHRfda Herl

Correct Ans : C

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

Az R 3T U TR Y UgdR U@ T URAl & e Sfud IR ard fawed! &1 99 Sifon-

fay TRz WTaT (WHO) g ¥ &1 T ARy woidt §, S Siagia wdorfaes Wrea & Wefid §1 3U@! R 1948 H g8 <Rt ofR 391 gemers oM, facerds & 81 WHO &1 S
IS e F SMYR R T BT § NS WY BT ggral fodm S b, gl Bl GRIG T f T 3R HHGR ANl BT Jal I o Fab | WHO It @it & e e iR T &) sgral
A ¥ i g R B WBRY SR YrfieRt & Ty S FA1 71 WHO & $TH & T &1 & =i &:

1. Si-UISusHH & deid WY B S ral ol

2. TP Holgd WA W S@UTd Peior g s
3. TR I BT gHTaar

4. I WA yunfed! & et & 3= &1\

5. XA HTTd AT &7 Sarg ST
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6. WHO wreg Hify & gei w +ff anfex uem #va1 8, W & garsit ok wrea wreife! d@ ugal

fay TR WTT (WHO) BT RITHAT 1948 H T Y (JTF) B1 T AW Tt & w0 H WA I 9g1d1 &, WA Rl § g9 3R Tt ARl 31 S1awaeh WA T@HIA UeH HA &
o &) 1 R WHO & &1 Brdep 3R awie WR ==l B 3R Aufg 3 & it WHO & gew g fay wareg gut # ufads fiydd 8 1IWHO &1 Trufiie e Tart I R 8, a1 B &
wfe § gER oafa & Uikd fbar o Tevell €, O b quifds, THensdt / ugd, walar 3R Qiferdl WHO HIg Ud RIg] e, T 3R @ QRam § guR A R QRiaE urt 3R Wwodl ad
UgT YA w=a & g ot B FRar ¥1 81 F ant H, WHO §d I, FIR SR A o TR-TIRY AT (i) @ Gt v # asht § 9ihg Y1 8 1My TR W sifiieiw @il & forg
TS AR B, fohR 4t 3% oreR Siaie & seaa S8 yuu B, WY 3ER TH 3R Fafiyd o w3 & AT S Tahel 31

Q.No: 4 frafifed # 3 e o oM ¥ 9% fru TAr #1 9e) SaTeRu 82

2705308S3
A FHYRY T
B 8 gAY

C forp m

D srerftutg T

Correct Ans : A
Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

=T FTATY FHY UgdH I T YAl & Ged STd SR ald et o1 997 Bifon-

anaft anft o em, SRe
T PEI I TS U
e rg W SIad &
I & g Jart

W A I §g = fomr
3T TR HT ATl
IFH T 7 o o ITHY
e foran g Sl
FR-9R § TR @ &
5 & frad BTt
HE1 o1 A1 H P
fooreht & off & st
Tt § fradt aaar
i 7w <@ e ot
i @t 9 € IR
TN S TH TAAR TAHT
A7 3 dve 7 ue
Teifere R o W

SEHA W § 3

Q.No: 5 e & § Iude v % R & A SaE-

270532350
A YR YT

B gftEre ud

C Fragpwr It T
D JUTPARY e

Correct Ans : D

Subject : Gen. Hindi (Hindi Lang PM 4 Question
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Passage:

AT FHTITY HY UgdH I T YAl &S GeW 3Td SR ard et o1 997 Bifon-

anaft anft o em, SRE
T BBl I T U
fre wis U sIqa &
I g g QA

W A i §g H= fomw
3 TR BT TS
IFHt o 7 o o ITHY
T form HE R 3T
FR-HR § TR @ &
I1ed § 5 Bt
HE o1 A1 H P
fooreht & offtT & ot
Tt § fpadt aaar
7w <@ & e ot
i @t 9 § IR
1 39 F qAAR T
A7 3 e 7 ae
Teifere @ o e

STEHA W § 3

Q.No: 6 e Uikl & SR, fPEA oMUY TR T aaTST §8 PR T 82

2705323S1
A qred A
B i3

C R A
D LIiE

Correct Ans : C

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

AT FTHTY HY Ugahx I T YAl & HaY SFId IR ard fadedt o1 999 Sifon-

3l anft ot U, sRE
@ P F I8 TR
e wis U8 s1ed &
&1 & g0 QA

WS A F dg = fomr
U TR BT AT
IFH 7 7 o ITD!
ESIRRIETEREC T
FR-9R ¥ TR @ 7
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5T & fpa BTt
fore! sfe <3 B, frem
FE1 o1 A1 A P
foorclt & offfe § st
Tt § fradt aaar
Y 7w <@ & e ot
i @t 9 § IR
T 39 qb qAGR T
o 3 ¥R 6 ug
Feifere s o e

STEHA W § 3|

L T s, S TR & Ul et A o o et g R weas oo § Swt o R § 9 Rewat ol g awe 82

2705323S2
A qEd Pt 3R
B i # iR

c RS B 3R
D it Y iR

Correct Ans : C

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

AT HTHTY HY Ugahx I T YAl & GaY ST IR ald et o1 997 Sifon-

3aft anft ot eu, sRe
T HET 9§ g U
fFe wis u¢ sred &
&1 g g Qe

WS A F dg Hx fomr
SO TR P T=aTel
IFH 7 7 T ITD!
ESISRIETEaEC I
FR-9IR ¥ TR @ §
15 § forads e
FE1 TG A1 A P
fooreht & offr & st
ESEIRA G KEIN
) 7 @ e o
¥ @t o § IR
R 34 T TAGR TAHT
A 3 e T3 ue
ST @ STt die

AN R ¢ 3T
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Q.No: 8 e § § P-91 “SIEa” BT i Wes T8 37

2705323S3

A Y

B g

C i
D qrdred

Correct Ans : D

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Q.No: 9 In the following sentence, some parts of the sentence have been bracketed. Below are given alternatives to the bracketed part, which may improve the
2700428 gentence. Choose the correct alternative. In case no improvement is needed, choose the option ‘No improvement'.

India has (rebuked) of American lack of sympathy for its concerns with Pakistan's policy.
A complain
B complained
C unhappy
D No Improvement

Correct Ans : B

Subject : Gen. English (English Lang 2)

Q.No: 10 In the following question, some parts of the sentence have been bracketed. You need to identify which of the given options can both grammatically and
2700571 contextually replace the bracketed part. In case the bracketed part is correct, ‘no improvement’ as your answer.

Manisha (no longer) cooks at home for her husband as she used to.
A No improvement
B rarely
C barely ever
D hardly ever

Correct Ans : A

Subject : Gen. English (English Lang 2)

Q.No: 11 In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.
2717841

One who is stupid or unreasonable and deserving to be laughed at

A Ludicrous
B Apostate
C Agnostic
D Pessimist

Correct Ans : A

Subject : Gen. English (English Lang 2)

Q.No: 12 Select the word, which means the same as the given group of words.
2717876

A passionate or obsessive enthusiast for music.
A Melomaniac
B Cynosure
C Cosmopolitan
D Coronation
Correct Ans : A
Subject : Gen. English (English Lang 2)

Q.No: 13 In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best expresses
2720549 the same sentence in Passive/Active voice.

They sell books.
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A Books are being sold by them.
B Books have been sold by them.
C Books are sold by them.

D They were being sold books.

Correct Ans : C

Subject : Gen. English (English Lang 2)

Q.No: 14 Which of the following is the correct name of a mixture of potato with ground cooked meat, fish or poultry formed into balls, patties or other shapes and
2701266 coated with a breading before frying?

e & 3 S a1 o F fHyyor &1 9 T e v gu o, god a1 ot &Y e, ¥ a1 o st & ST S § SR dan ¥ Ugd oS & ry Afda foban e 82

Croquettes
A

EaL il

Croustade
B

PIERS

Dariole
C

s

Degorger
D

IR

Correct Ans : A
Subject : SCIENCE

Q.No: 15 Which of the following is not a correct fact for the type of food given in options?

2701269
farepedl & faU T HivH & TR & fo Fafafea # 9 SF- 96 aa 71 82
Functional foods- Foods performing common bodily functions only.
A
FratEs @ uerd- Haa g ARG $1d F4 ard @ verd |
Medical foods- Dietary management foods for diseases
B
fufere @ ugrd- M & T MER wey @ verd
Preserved foods- preservation methods do not change nature of foods.
C
iR @Te verd- Revr ¥ a8% @ yerdf 3 usfa B T gead B
Formulated foods- foods prepared by mixing and processing of individual ingredients
D

TR TRl Uerd- 3eT-3erT 3raaq) ) ey 3R IO $v& duR fHe e @ uerdf
Correct Ans : A
Subject : SCIENCE

Q.No: 16 Which of the following is the method of cooking food in a closed vessel with very little liquid at a low temperature and for a long time?
2701282

9 ¥ I P $F dUHH R R T THT a6 9gd $H R F Y TS §c g0 & @1 9o Bt fafy g2

A Braising


https://applink.adda247.com/d/XhqWf9lSap

Adda Eq 7 GET IT ON

Google Play

AT

Steaming

AT

Stewing

wifdr

Poaching
aifziT

Correct Ans : A
Subject : SCIENCE

Q.No: 17 Which type of vegetable cut is shown in the picture given below?

2701287

Brunoise
A

Macedoine
B

Paysanne
C

TR

Jardiniere
D

wf&R

Correct Ans : D
Subject : SCIENCE

Q.No: 18 What can be ascertained through Bioelectric Impedance Test?
2705024
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TEAlRS ey 2 & ST T Udl @R S gadl 9?

Body composition

A
TRR =T
Obesity
B
werar
Muscular strength
C
Tl $t awa
Cardiovascular health
D

T4 Wy
Correct Ans : A

Subject : SCIENCE

Q.No: 19 What is the effect of heat on Vitamin B & C during cooking in water?
2705055

Tt & @M1 e $ ERM faerfie &t ofR @ R a1g @1 @ yuie s 87

There is no effect.

A
B¢ yura T8 81
Some of the vitamins are lost.
B
Fo fyerfm e 8 o #)
They coagulate.
C
EECEEICE]
They are lost by heating.
D

T FA | 7E 8 W E
Correct Ans : D
Subject : SCIENCE

Q.No: 20 What is the function of stomata in the plants?

2705085
el & S5t o o B B2
To transport material from roots
A
SISt & w31 ufkagd s
To transport energy
B
St ufvas & firg
To generate energy
C

ol S BT

D To allow gases to pass in and out

GET IT ON

Google Play
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T Y SieR 3R FTER WA AT
Correct Ans : D
Subject : SCIENCE

Q.No: 21 Which of the following is a good source of Vitamin B12?
2705094

Frafofad # 3 SF-91 faaftF B12 &1 31 |id 82

Vegetables
A
wfesrai
Fruits
B
wd
Citrus foods
C
wrgew e uqrd
Seafood
D
W Es (W i)

Correct Ans : D

Subject : SCIENCE

Q.No: 22 What does ‘Indica’ mean in the scientific name of mango ‘Mangifera Indica Linn'?
2710313

3 & e T T §fget o & SfEar o1 @ orf 22

It is name of taxonomist.

A
Ig TR 3T W 21
It represents genus.

B
g “fia &1 ufafiRa ot 21
It represents species.

C
Tg yeifaal o1 it ST 2
It represents quality.

D

g I H1 gl Far g1
Correct Ans : C

Subject : SCIENCE

Q.No: 23 Which of the following term is not used for the respiration using oxygen for breaking down glucose?
2710330

DN BT Al P o SRASH BT ST ISP 48 & forg Fgfifed & ¥ o4 91 ueg i =t fovar Srar 82

Aerobic respiration

RifS® g7

B Oxidative metabolism
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Sifeftsfeq wam=a

Anerobic respiration

AT 4T

Cellular respiration

Eaibiciv et
Correct Ans : C

Subject : SCIENCE

Q.No: 24 Which of the following is not a part of Hardy-Weinberg Equilibrium?

2710335
fafifed & 3 o o gref-a7e dger @1 few 76 22
Gene migration
A
S yarET
Genetic drift
B
TR a5Ta
Mutation
C
Jafada
Adaptive fitness
D

syt e

Correct Ans : D
Subject : SCIENCE

Q.No: 25 Which of the following prevent hydrophilic substances from entering or escaping the cell?

2710339
fofifed & 3 o1 grESiftsiie uard # FifeT ¥ maw w37 a1 a1 e § A% 72
Phospholipids

A
Lar o s
Proteins

B
Licit
ATP

C
i
ADP

D
ot

Correct Ans : A

Subject : SCIENCE
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Q.No: 26 Read the statements given below and answer the question follows.
2710353
Assertion (A) -, DNA chemically is less reactive and structurally more stable when compared to RNA.

Reason (R) - 2'-OH group present at every nucleotide in RNA is a reactive group and makes RNA labile and easily degradable. RNA is also now known to be
catalytic, hence reactive.

H=2 e U B @Y ufew SR fow T v & I v
AT (T- HRUAT F a1 § SITE s F0 ¥ F1 vlafsaria ok WReTds w0 3 offis R 1

PR (IR - AR F TS Jfaaaerzs W TG 2'-300d THg Us Ufafhareia T 2 3R RUAT SRR 3R 3t § fRmae arg s+ 21
HRTTY B 37 IAReb $ w0 F 1 ST Sl 8, g9 ufafsparehian|

Both A and R are correct. R is the correct explanation of A.

A
T 3R 3R 1 Wt €1 R, A FT T e B
Both A and R are correct. R is not the correct explanation of A.
B
T 3R IR ST T F 1 R, A B T e A R
A is correct but R is incorrect.
(@
A € ¢ A R T B
A is incorrect but R is correct.
D

A e § AfF R WE R
Correct Ans : A
Subject : SCIENCE

Q.No: 27 Which of the following is main constituent of Haemoglobin?
2710364

Fofafed & & S o1 fHfT $1 78 9ed §?

Vitamin
A

et

Protein
B

W

Iron
C

et

Calcium
D

Ffcxraw

Correct Ans : B
Subject : SCIENCE

Q.No: 28 Where are sebaceous glands found?
2710379

T i et Ui It € ?

Epidermis of skin

o & Tisffa
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Mucous epithelium of stomach

B

e & T SuHaT

Mucous epithelium of skin
C

T P AT IuFAT

Dermis of Skin
D

wa ot sffa
Correct Ans : A

Subject : SCIENCE

Q.No: 29 How the Nervous cells are different from others?

2710380
T IR qERT I fbg yebR e 87
Complete structure
A
gof TR
Complete function
B
Pukari
Intercellular communication
C
SRBIRBT AR
Functions of parts
D

YT & Hrf
Correct Ans : C

Subject : SCIENCE

Q.No: 30 Which of the following blood vessels transports nutrient rich blood from the intestines to the liver?
2710385

ot & 9 B9 T Yo a1t Gved dal § RUR X9 B 3fidl I Ipd 9% gl 37

Hepatic artery

A
T et
Hepatic portal vein
B
TPpd Nde RRT
Great saphenous vein
C
TS WO T
Inferior vena cava
D

3G 3T HraT
Correct Ans : B
Subject : SCIENCE
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Q.No: 31 Read the statements given below and answer the question that follows.
2711065
Assertion (A): The natural resources have made this planet livable and have supported the evolution and sustenance of living organisms.

Reason (R): Natural resources are of utmost importance to all living beings particularly to humans.

=12 U T Sy Y ufen iR T U Ut % IR iR
T4l (T): Wpfas Gl 3 39 g &I 3§ a7 S/ 7 3R Sifad oial & e ofR YeRane &1 a9 faar 1
HRU (R) : Tpiaed Fare it sifae wiidra! fatiwest st & fw eidid Heaqyf €1

Both A and R are correct. R is the correct explanation of A.

A
T 3R 3R 1 WE §1 R, A T T e 71
Both A and R are correct. R is not the correct explanation of A.
B
T 3R AR ST T FI R, A B T e T R
Only A is correct.
C
Fad A TS R
Only R is correct.
D

Fad R TG 21
Correct Ans : A
Subject : SCIENCE

Q.No: 32 Which of the following is not TRUE regarding the mineral resources of India?
2711086

Fafifed & @ B O 4Rd & @RS G91eT & Iy F T8 T8 82

India ranks 4" in iron ore in the world.
A

YRd ghar § die eave § 9 ®IF W 21

India ranks 15 in mica production in the world.
B

Y JeuTe & Uk BT Ay & yom =i B

India ranks 3" in chromite production in the world.
C

WRA giraT # HiATge Sre § Y RIF W 31

India ranks 2" in aluminum production in the world.
D

yRa givar ¥ Tegeifeam Jarea & gt I W 71
Correct Ans : D

Subject : SCIENCE

Q.No: 33 How many Indian wet lands have been declared as wetlands of international importance under Ramsar convention?
2711096

IR I & T fbat YR ok iy &Y Sierfia mee 3 ety v famam mam 82
2
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3

6
C

6

15
D

15

Correct Ans : C
Subject : SCIENCE

Q.No: 34 Read the statements given below and answer the question that follows.
2711103
Assertion (A) - Water is most important resource, which supports life, while forests resources support water.

Reason (R): Forests are directly accountable for gathering and filtering rainwater, which is essential for evolving clean water sources for plants, animals
and human beings.

i fou U ST @Y ufeu ok fow T ust % SR AR
27T (T) - U e Aeaqul §9Te §, S Shae @1 FHe Bl €, Wi o T O T gHee Bd g
HROT (R) : T I BT THHT IR 3R BFA S AT 37 W IR R Faaes 7, o diefl, TEaRt 3R 79t & e e oia 9l 3 fasia s & e srawas 71

Both A and R are correct. R is the correct explanation of A.

A
T 3R IR GAT FE §1 R, A I} HE =S B
Both A and R are correct. R is not the correct explanation of A.
B
T 3R IR GT FE §1 R, A 3 6 e A 3
Only A is correct.
C
Fad A FE 81
Only R is correct.
D

%ad R TE 21
Correct Ans : A
Subject : SCIENCE

Q.No: 35 What is land subsistence?

2711110
2ty fafs @ g2
Eroding of soil due to human activities
A
adrg wfafafir & sror gt @1 gRon
Less recharge of ground water resources than exploitation
B
g P gaT § yoid T BT F9 g
More rain than required leading to creation of new water resources
C

STaLH T I 3P auf V 7T S WAL BT o giem 2l

D Artificially creating new water resources.
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FRW EU A T Fa@ G ST i s
Correct Ans : B
Subject : SCIENCE

Q.No: 36 A changing climate can alter all elements of hydrologic cycle, that includes precipitation, evapotranspiration, soil moisture, ground water recharge and
2711114 ynoff and can also change the intensity of precipitation, snow melt and runoff’.

Which of the following is correct understanding about the given statement about water cycle?

Sedd! Sodr gIgSiaiioeg b & gt dadl Bl dae Tl 7, Frad o, arsdfiexur, frg) &t 7, ysia gaikor &R sruare e § ok auf, b % fuem @ik sruarg @ dfgar
Pl off ged IBd 7'

Fafofad # 3 $F 91 od 9% & aR # 3T T By F aR § I 9H 82

It is false

g I 7

It is partially true.

g 3 Fu w4 21

It is true.

T Ta Bl

It is not related to water cycle.

I8 o T § Wafla T8 71
Correct Ans : C

Subject : SCIENCE

Q.No: 37 With which of the following ‘pedology’ deals with?
2711126

Frofeiad & & feg ISl o1 ey 2

It deals with the structure and development of minerals.

A
Tg @il Bt EEET R R @ weEite 81
It deals with the soil formation, genesis, survey and classification.
B
Tg gt & e+, Iufy, Tdervr iR wifevor @ wefia 21
It deals with the pattern of hydrological cycles and its effect on climate.
C
g gIgSIaGd awml & e 3R Saarg R 39S YU & Heftd g1
It deals with the mineral formation and classification.
D

g @i fmfor 3iv affevor @ wefia 81
Correct Ans : B
Subject : SCIENCE

Q.No: 38 Which of the following statement is correct about the importance of pH of soil?
2711131

1. Presence of soluble Fe and Al toxic quantities adversely affect the plant growth in acid soils

2. Availability of phosphorus is reduced at low (acidic) and high (alkaline) pH.
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3. The soils with alkaline reaction (pH 7.5 and above) and the presence of OH- ions leads to deficiency of P, B, Fe, Cu, Mn and Zn

i & 3 o @ FuA Mg F dieg & 7ea & IR 7 98 32

1. Yol Fe 3R AI Bt fawTer BT Bt SulRify enciia firg) & Ml ot 9fg W wfdga ywTa Srerdt 8

2. B (3fT) 3R = (&) tigg o BREGRY 3 Iudd $H 8 St 2

3. &8 ufafsar (pH 7.5 3R FW) arelt Aigh 3R OH- 3T @t IUfUT A P, B, Fe, Cu, Mn 3R Zn T HH 81 ol ¥

Only 1
A

Fad 1

1 and 2
B

1 3R 2

2and 3
C

23R 3

1,2and 3
D

1,23R3

Correct Ans : D

Subject : SCIENCE

Q.No: 39 Which of the following metals is the most reactive?
2711538

Frofafed & & SH-H g ge9 oifdre wfafiarha 32

Lead
A

s

Mercury
B

qRT

Calcium
C

Ffemaa

Aluminum
D

Tegifrm

Correct Ans : C

Subject : SCIENCE

Q.No: 40 Which of the following metals is a noble metal?

2711546
Frafafea # 3 SH-3 urg ST Ui 82
Iron
A
et
Gold
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sl
Aluminium
C
wefafrm
Zinc
D
ST

Correct Ans : B
Subject : SCIENCE

Q.No: 41 In electrolytic refining, the amount of pure metal deposited on -
2711574

FAESITEIes e H g U1g 1 A Fafd 8t | -

Cathode
A

Fiis

Anode
B

s

Either cathode or anode
C

1 @t HUs a1 TS

None of the given options
D

Ry ¢ fawel & @ 1S T8
Correct Ans : A

Subject : SCIENCE

Q.No: 42 12 gram of carbon atom is equal to-

2711589
12 T B TRHATY] SRR 8-
1 atom of carbon
A
BT BT 1 UATY]
12 mole of carbon
B
PEA & 12 W
6.022 » 10%* atoms of carbon
C
FIaeT & 6.022 % 102 AL
6 mole of Carbon
D

P & 6 WA
Correct Ans : C

Subject : SCIENCE

Q.No: 43 Which of the following is used to measure the mass of liquids?
2711665

GET IT ON

Google Play
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%l & SogdE &1 AR ¥ forg Faffea & & feweT wanT o S g2

Balance
A
wger
Measuring cylinder
B
wTI arer sy
Ruler
C
RMHD
Thermometer
D
AR

Correct Ans : B

Subject : SCIENCE

Q.No: 44 What is the symbol for mass?

2711667
S T Udlies T 872
M
A
M
L
B
v
C
v
D
T

Correct Ans : A
Subject : SCIENCE

Q.No: 45 1 kilometer Is equal to how many miles-

2711707

1 frarfier fram e & sRIeR g B-

0.750 miles
A

0.750 #i@

0.876 miles
B

0.876 Hi@

0.621 miles
C

0.621 #i@

D 0.757 miles
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0.757 W@

Correct Ans : C

Subject : SCIENCE

Q.No: 46 The surface area and volume of a cube is numerically equal. Find the length of the side of the cube?
2711726

TP U B1 JHIT A 3R S GHH U I SRIeR Bl &1 B BT YT P @aTg Tl BISTL?

2 unit
A

2591

6 unit
B

6 ST

7 unit
C

7 gfve

4 unit
D

4 gfe

Correct Ans : B
Subject : SCIENCE

Q.No: 47 Which of the following is ‘irreversible’?
2711925

FofifEd 7 @ o 1 suRada g2

A chemical change

A
IS uRads
A physical change
B
e Hifds aiads
Both a physical change and a chemical change
C
W g 3R Tmafe givad= gt
Neither a physical change nor a chemical change
D

=t Wifae afivada ik 7 & wamafe uivada

Correct Ans : A

Subject : SCIENCE

Q.No: 48 Can a shining stainless steel plate or a shining steel spoon change the direction of light?
2712150

T TH THBER WA e Bt We a1 Th I0Hd1 gl Tl BT 9Hd YHI F =M I&a Tohall 2

Yes, they can change the direction of light.

g, & T @t fazm gea "@d g1

B No, they cannot change the direction of light.
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8, 3 v 3 femm T Te@ |

They can only change the color of light.
C

q $Iq TP BT T 95d TP &1

They can only absorb the light.
D

A Paa THT B AT BT THA T

Correct Ans : A

Subject : SCIENCE

Q.No: 49 In a plane mirror, the distance between the object and the image/jpg is:
2712151

Fraa <du § a¥g 3R ufifsr % d Bt gt gl 8

equal to the distance between the object and the mirror

A
X 3R gior & i Y g F TR
greater than the distance between the object and the mirror
B
g 3 gdur ¥ fu g §
less than the distance between the object and the mirror
C
oG R g & fu s gH A Fw
can be any distance
D

P35 oft gt Y Tt B
Correct Ans : A
Subject : SCIENCE

Q.No: 50 Which of the following is a characteristic of a virtual image/jpg?
2712159

Frafafea # 9 oH-0 1 sl B3 31 fagiva g2

It can be formed on a screen

A
T U W T S 9HAT §
It is always real
B
Tg AR IAfI® g1 ¥
It cannot be formed on a screen
C
TR U8 TR I 9T S AHAr @
It is always inverted
D

g oA a5 A IST AT §

Correct Ans : C
Subject : SCIENCE

GET IT ON

Google Play
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Q.No: 51  Which of the following eye defects can be corrected with the help of concave lenses?
2712189

3qdd A B Ferd J Fufifed # ¥ feg 3 v o Sl fbar S gadr 82

Myopia (short-sightedness)

A

A (Fee =)

Hypermetropia (long-sightedness)
B

FrEuRACHIT (et €fR)

Presbyopia (age-related long-sightedness)
C

VETaIET (SU ¥ Hefta grerian

Cataract
D

Hifoanfiie

Correct Ans : A

Subject : SCIENCE

Q.No: 52 Vibrations of the sound are amplified by-

2712202
& & S DI TG STl 8-
Stirrup
A
CERED
Anvil
B
fers
Hammer
C
qxP
All of the given options
D

feu e 9ol fawew

Correct Ans : D
Subject : SCIENCE

Q.No: 53 The speed of sound in the medium depends on-

2712226
wrew § @l @) R frw w ek o 3-
Frequency
A
amafir
Temperature of medium
B

g & qIIHE W

C Source of sound

GET IT ON

Google Play
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afy &1 |a

Pitch

3TaTS T IdR-deld (Pitch)
Correct Ans : B
Subject : SCIENCE

Q.No: 54 Which one of the following waves used in industry to detect cracks and flaws in metal blocks?

2712229
Tg STh! A EXRT SR aIST $T Ul @ & e I # Ffafed # § $19-8 a1 B Sudi e S 82
Infrasonic

A
TIPS
Ultrasonic

B
SegrE®
Radio

C
e
Matter

D
werdf

Correct Ans : B

Subject : SCIENCE

Q.No: 55 What happens when two forces are applied to an object in the opposite direction?

2712757
<) 9 fpdl og W Il oy & @ §, o @ S 82
Forces add up
A
T4 954 §
Forces subtract
B
@ U W &
Forces divided
C
va R g o §
Forces multiplied
D

¢ UH § 91 §

Correct Ans : B

Subject : SCIENCE

Q.No: 56 What is the value of gravitational constant?
2712767

oYUl FRRI® BT H &l 8-
A 6.67 x 101! Nm? kg?
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6.67 x 10! Nm? kg?

6.67 % 10-1! Nm? kg2

B
6.67 % 101 Nm?kg?
6.67 x 10l Nm2 kg?
C
6.67 x 101 Nm2 kg?
6.67 % 10-11 Nm2 kg
D

6.67 % 101! Nm2kg

Correct Ans : B

Subject : SCIENCE

Q.No: 57 Gravitational force depend on-

2712768
@Y §q R Far 8-
Shape of the objects
A
TEgaHt BT PR
Velocity of the objects
B
aegalt &1 AT
Mass of the objects
C
TEg3it FT g
Presence of other objects
D

3= qegait ot SufRfa
Correct Ans : C

Subject : SCIENCE

Q.No: 58 The weight of an object at the center of the earth of radius R is-
2712800

o R 3 et & Fg R freht ag o1 WR -

Zero
A

T

Infinite
B

3d

R times the weight at the surface of the earth
C

7t B TAE W YR FT R T
D 1/R? times the weight at surface of the earth

GET IT ON

Google Play
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gy &7 Tclg IX dafel &l 1/ R I[=11

Correct Ans : A

Subject : SCIENCE

Q.No: 59
2712802

When a ship floats in seawater, because-

S SRS G o § ReT § -

The weight of water displaced is greater than the weight of ship

e 9 &1 YR STeTe & R A arftre gran @

The weight of water displaced is less than the weight of the ship

1| 5e #7 YR 98T & YR | B gl 2

The weight of water displaced is equal to the weight of the ship

farenfa ot &1 99 WET™ & 99 & TRIER gl @

It displaces no water

g Ut @) e e wear @

Correct Ans : C

Subject : SCIENCE

Q.No: 60
2712807

Why does a balloon change its shape when it is filled with air or water?

TeIR & gaT A1 I 1RA R IHT HHR T} ggad 82

Due to increase in pressure

%919 T8 & PRI

Due to decrease in pressure

<qTd FH 1 & BRI

Due to mass

S & HRUT

Due to gravity

THATHYU F BRI

Correct Ans : A
Subject : SCIENCE

Q.No: 61
2712810

Why is it more difficult to walk properly on a well-polished floor?

3] aRE T Ui T MU BR R Sl A I i BiS B 22

Due to less friction

Y01 H 9 S FRO

GET IT ON

Google Play
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Due to more friction

B
HfF T & RO
Due to polish
C
gifersr & ST
Due to less pressure
D

Y gaTd & BRI
Correct Ans : A

Subject : SCIENCE

Q.No: 62 Why are treads made in the surface of tyres?

2712813
TR &Y T W ¢S T L I 82
To increase friction
A
wfor gg & fg
To decrease friction
B
o $7 I & farg
To look tyre good
C
TRR 3BT fewm & forg
To decrease grip
D

T5s 9 oA & g

Correct Ans : A
Subject : SCIENCE

Q.No: 63 The process of heat transfer from one part of a fluid to another part by the actual movement of the particles of the fluid is known as-
2713930

%4 % BUIT & IR GeIer GRI 5d & Ueb YT Q gWX YN H SHOAT & ™Rl B Uikl deard! -

Convection
A

Wagd

Conduction
B

EIGE]

Radiation
C

fafeor

All of the given options
D

fow e @bt fawe
Correct Ans : A
Subject : SCIENCE

GET IT ON

Google Play
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Q.No: 64 When the warm air from the land moves towards the sea to complete the cycle. The air from the sea is known as-

2713939
S Y & T TG I O B b U Tg B SR Tadt 81 gx § P arelt a1g weard 8-
Sea breeze
A
g TR
Land breeze
B
yd FHR
Land cyclone
C
YfYy Terara
Smaller tsunami
D

B ATt
Correct Ans : A
Subject : SCIENCE

Q.No: 65 What is the boiling point of water?

2713947
S T DY g T -
32¢F

A
32°F
70°C

B
70°C
S0°R

c
S0°R
373K

D
373K

Correct Ans : D
Subject : SCIENCE

Q.No: 66 Which one of the following factors on which specific heat capacity depend?

2713957
fofifed & 3 $19-8 ore w ol S ufar Mk oxd 32
Nature of substance
A
yard #t ypfa
Temperature
B
GIECIE]

C Both Nature of substance and temperature
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ard B wepfar iR araHE St

Volume

kIpGE)
Correct Ans : C
Subject : SCIENCE

Q.No: 67 Which of the following is an example of latent heat?

2713962
i & ¥ B T ST BT ISR © ?
A pot of boiling water
A
I U BT TP g
A cup of hot coffee
B
TF $Y T Frwt
A melting ice cube
C
T e aTen Smew wd
A warm room
D

TP TH ST
Correct Ans : C

Subject : SCIENCE

Q.No: 68 When Earth crosses the tail of a comet, swarms of meteors are seen. These are known as-
2714034

9 gt freft qmhg P 4 Y UR Rl @, o Seprell & g e 39 1 % 9 T F S o -

Meteors spring

A

JedT THT

Meteors shower
B

Eisakid

Meteors waterfall
C

SpT FRAT

Meteors group
D

Jobl A
Correct Ans : B

Subject : SCIENCE

Q.No: 69 What is the SI unit of work?
2714069

B BT SI HHD T 82

A Joule
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S

Newton

Watt

Erg

3t
Correct Ans : A
Subject : SCIENCE

Q.No: 70 What is the relationship between work and energy?

2714075

S 3R Foll $ o T ey 37

Work is a form of energy
A

P el 1 UH w7

Energy is a form of work
B

ol e HTTH FU &

Work and energy are unrelated
C

None of the given options
D

e ¢ fawedl & @ PIs T8
Correct Ans : B
Subject : SCIENCE

Q.No: 71 What is the basic principle of a simple machine?

2714083

TH YR 7R H7 9 Rygia o 82

To increase force
A

¥4 91 F forg

To increase speed
B

Tfd g & g

To reduce force
C

9 FH FA F g

To reduce speed
D

Y 9 HA F forg

Correct Ans : C
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Subject : SCIENCE

Q.No: 72 Which of the following is an example of a second-class lever?
2714084

Fafofad § ¥ $F-41 fgdia Joft & Sxies o1 I 22

Wheelbarrow

A

ARt

Scissors
B

F

Seesaw
C

e

Hammer
D

gHteT

Correct Ans : A
Subject : SCIENCE

Q.No: 73 During the transform of energy into one form to another form, the total energy at any times remain
2714104

Foil & U T A gW w0 § uRad & ERH et off T o el & et 8

Increases
A

Tt §

Decreases
B

T g el 7

Zero
C

T

Constant
D

fra

Correct Ans : D
Subject : SCIENCE

Q.No: 74 How much solar energy does India get in a year?

2714106
R & T ¥ A bl IR Foll urd et 87
More than 4000 trillion kWh

A
4000 2 kwh 9 3w
Less than 4000 trillion kWh

B

4000 2 kwh @ 7

GET IT ON

Google Play
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More than 5000 trillion kWh

5000 fefra= kwh 3 3iftrs

More than 2000 trillion kWh

2000 fRferg= kwh 3 3iftre
Correct Ans : C
Subject : SCIENCE

Q.No: 75 If a body works at the rate of 1 joule per second, then the power of that body will be-
2714116

afg I3 Avs 1 Ja vl J6v8 3 R I 1 &2l g, d 39 fis 3t wfea gefi-

2 watts
A

2dic

0 watts
B

0 e

1 watts
C

1491

3 watts
D

3dic

Correct Ans : C

Subject : SCIENCE

Q.No: 76  Which of the following pairs has both the quantities as scalar-

2714130
Frofefed & 3 g gm & S amnd eifew 7-
Force and displacement
A
@ SR R
Velocity and kinetic energy
B
AT R IS St
Density and volume
C
T 3R A
Momentum and displacement
D

AT 3R T
Correct Ans : C

Subject : SCIENCE

Q.No: 77 Which one of the following energy transformations takes place in a toaster?
2714138
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AR A Fafifad § § $H-91 SHuf FuidRur gidr 82

Chemical to electrical

A
»fepa I safasa
Electrical to thermal
B
safdgea | yHa
Thermal to electrical
C
yHa ¥ gafReea
Nuclear to thermal
D

Y ¥ TRET]
Correct Ans : B

Subject : SCIENCE

Q.No: 78 How does an electric cell work?

2714165

fegd Ia BQ B BT 87

By converting mechanical energy into electrical energy
A

iy ool B Rigqd ool & uRafia o

By converting thermal energy into electrical energy
B

anftg Feit #1 figga St § yikafda swar &

By converting chemical energy into electrical energy
C

rTafe ol @) Riega St & ufafia sear &

By converting electrical energy into mechanical energy
D

fagga St @t gifye Suf & uRkafia svar §
Correct Ans : C
Subject : SCIENCE

Q.No: 79 Which of the following relations is correct?

2714176
Frafifea 3 @ o a1 gy T8l 82
1mA = 10-4A

A
1mA = 10-4A
1mA = 10-5A

B
1mA = 10-5A
1mA = 10-6A

c

1mA = 10-6A

D i1mA = 10-3A
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1mA = 10-3A
Correct Ans : D
Subject : SCIENCE

Q.No: 80 Which of the following statements are true for magnetic field lines?
2714206

Fofafad 3 ¥ oF 3 H3F gao & Wasit ¥ fon 99 g2

It emerge from the South and merge into north

A
Tg féror § et 3 ok S & 9 &t ot &
They can never intersect with each other
B
3 Pt TH-gR B FIe T8 THR
They can intersect each other
C
3 TP g I BIC qHA! §
They do not form closed loop
D

q ¥ U 18T I §
Correct Ans : B

Subject : SCIENCE

Q.No: 81  Which finger of the hand represents the direction of the induced current in Fleming's right-hand rule?
2714215

By B B A ITTelt T & e gy & From & o ury 1 femm o et w32

The fore finger

A
EEE|
The middle finger
B
HEHAT
The little finger
C
HigT
The ring finger
D

SHTHDT
Correct Ans : B

Subject : SCIENCE

Q.No: 82 Which of the following statements is true regarding the Fleming's right hand rule?
2714217

AT & erie g1y % | % Tey A Fefiied § d B a1 BuT 99 82

It is used to determine the direction of force acting on the current carrying conductor.

BT SUUNT fAggd YRT & 11 918 $8aeX W P14 I a1a 9a @t iz Fruffya w1 ¥ e fear wmar 21

B It is used to determine the direction of induced current.
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TOPT IUanT AR uRT @ foxm Auffa s & forg fan smar 21

It is used to determine the direction of the electric fields.

a1 SuanT figga a=f Bt = Fuffa o & frg fear wmar 1

It is used to determine the strength of the magnetic field.

TP IUANT IS §F $Y a1 fFruffva s & fore faar smar &1
Correct Ans : B

Subject : SCIENCE

Q.No: 83 Why do we prefer CFLs over electric bulbs?

2714231
& fefell & wesll @1 gar # owd 1 i deiie & 82
CFLs are cost-effective
A
Hewwa anma gurdt §
CFLs have a long life
B
Wewea $t 39 o A 3
CFLs transformed more electric energy into light energy
C
AreTe e Riggd oo @ vom ol § aRafia o3 &
All of the given options
D

fow g @bt fawew
Correct Ans : D
Subject : SCIENCE

Q.No: 84 Which of the following scientists first noticed the magnetic effect of electric current?
2714239

Fufafaa & 9 fra amfie 3 9o usd fAggd YRT & Je@ig UHId & dar?

H.C Oersted
A

TRt oS

H.N Oersted
B

A RS

Michael Faraday
C

AEHd BIS

Joseph Henry
D

SRIw Rt
Correct Ans : A

Subject : SCIENCE

GET IT ON

Google Play
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Q.No: 85 Why is electrical wiring usually made from copper and not silver ?
2714254

faorelt % IR MIR W did & 7 €1a & 7 fF =it F e

Copper is a better conductor

A
TS TP IR HSHR 3
Copper is a better insulator
B
AT T JEeR AR §
Copper is less expensive
Cc
ataT Hu @ drar &
Copper is non magnetic
D

qiar iR gera €
Correct Ans : C

Subject : SCIENCE

Q.No: 86 Which of the following is the correct method to connect the Ammeter and voltmeter with resistance in the circuit to verify ohm's law?
2714264

3 & w3 Fafa s F fog Ffbe & ufkly F Ay tfiier 9R deesieR @ sied & i Fafafed & @ -3 w8 fafy 22

Ammeter and voltmeter in series

A

e & gHler 3R areeHier

Ammeter in series and voltmeter in parallel
B

e & THeR 3R WHAIRR & deediex

Ammeter in parallel and voltmeter in series
C

AR # THieR ok g@en # dicediey

Ammeter and voltmeter in parallel
D

TR & gHieR 3R areetier
Correct Ans : B

Subject : SCIENCE

Q.No: 87 The branch of physics which deals with the study of magnetism of earth is known as -
2714271

DRI 3 95 a1 S g2t & Gubd b ST F Yol 8, HeAdl © -

Terrestrial magnetism

R gawd

Geomagnetism

Y-gHhd

C Both Terrestrial magnetism and Geomagnetism
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AT gaPd 3R Y-gabd gl

Exterior magnetism
e gawa

Correct Ans : C
Subject : SCIENCE

Q.No: 88 How much work is done in moving a charge of 2 micro coulomb from a point at 110V to a point at 150V?
2714272

2 HISH! A A BT 110V & fig I 150V F &g d% o 1 A b1 wrf a1 ugar @ 2

8 micro joule

A

8 A

8 x 10-4 joule
B

8 x 10-4 ¥

8 x 10-5 joule
C

8 x 10-5 T[a

8 x 10-6 joule
D

8 x 10-6 [
Correct Ans : C

Subject : SCIENCE

Q.No: 89 Which device produce the electric current ?
2714279

PH-T IUIRYT gqd YdTg ST HT 82

Electric generator

A
forgga =t
Galvanometer
B
freft &5t =ify o= 1 9=
Electric motor
C
fagga Atex
Ammeter
D
TR

Correct Ans : A
Subject : SCIENCE

Q.No: 90 Study the following table
2720286

Frog Tod Lizard
Lizard Turtle | Crocodile
Salamandsr | Tod Turtle
Frog Lizard | Tuatle

[=] 1)+
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Which of the following best represents the Reptiles?

Frafifed & @ BH-a1 Ry THYgT &1 Jad 3T SCgRU 87

A
A

A
B

B

(9
C

D
D

D

Correct Ans : B

Subject : SCIENCE

Q.No: 91 Name the interconversion of water from a gas state to a solid-state without passing through the liquid state.
2720304

1 59 SaRT VORI F NG G Y S A H SfquRad &1 T Rl

Deposition
A

au

Sublimation
B

SeduraT

Evaporation
C

qrefieor

Melting
D

TS

Correct Ans : A
Subject : SCIENCE

Q.No: 92 The 'ISI' mark given as an assurance of conformity to the specifications given on the products is issued by:
2720309

IO R U Tu AFER % Sy BR & Sy & w0 faa ma edugens g s gRi SR foban o €7

Indian Statistical Institute

URdtg wiferets dwm

B Quality Assurance Associates
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OTErT ST Hearh

Bureau of Indian Standards
C

W AE SR

Consumer court
D

IUHITT AT
Correct Ans : C

Subject : SCIENCE

Q.No: 93 If the angle of incidence of an incident ray is 20 degrees, what is the angle of reflection of the reflected ray?
2720321

Tfe T 3ufad bR BT 3muaH Biur 20 f&ult B, o Wafdd 01 &1 WRiad Hior o 22

30 degrees
A

30 f&7ht

40 degrees
B

a0 f&h

20 degrees
C

20 f&h

50 degrees
D

50 f&h

Correct Ans : C
Subject : SCIENCE

Q.No: 94 The components consisting of long amino acid chains are called

2720323
it o oftrS SESl R TR B w2
Sugars
A
THA
Lipids
B
fafts
Proteins
C
Picie ]
Fats
D
a1

Correct Ans : C

Subject : SCIENCE
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Q.No: 95 Which physical state of matter has the highest energy compared to all other physical states?

2720324
o= ot i sratsll 3t gor & vard @ 5 ifae s # Sor ued oifid gt 82
Solid
A
5
Liquid
B
wd
Plasma
C
TATSHT
Gas
D
Rk

Correct Ans : C

Subject : SCIENCE

Q.No: 96 __ transports food in plants.
2720334
e A HioH T uikdg &Rl 3
Xylem
A
SgeH
Stomata
B
wHer
Phloem
C
weE
Stigma
D
Rewr

Correct Ans : C

Subject : SCIENCE

Q.No: 97 Naphthalene balls used to repel moths and other insects are obtained from

2720342
AT SR ST PIST B G WA F R swwTer b I aret Awreh et 9 urd o ol )
Coke
A
Eacg
Coal tar
B
Pl AR

c Petroleum
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Ugiferaw

Natural gas

wpfa®

Correct Ans : B
Subject : SCIENCE

Q.No: 98 The size of the pupil is controlled by the

2720344
Porika R ican ¥F gr1 P o o 21
Iris
A
affer®T (Iris)
Cornea
B
HIf+aT (Cornea)
Retina
C
e (Retina)
Ciliary Muscles
D

faferadt 79 (Ciliary Muscles)
Correct Ans : A

Subject : SCIENCE

Q.No: 99 X is a plant which has developed branches near the base of stem where the stem is hard but not very thick. What is this type of plants known as?
2720352

X U T B R a9 & SR & e ¥ wRary fasfid ot ], STl a1 TRed dl § Afth 9gd Hiel et 81 39 UBR & Wl B o1 Hal S 82

Shrubs

A
&4 (Shrubs)
Herbs

B
3R (Herbs)
Tree

C
ﬂg (Tree)
Orchard

D
Tale™ (Orchard)

Correct Ans : A
Subject : SCIENCE

Q.No: 100 When Shashank heated some water in a metal container, he observed few tiny bubbles forming at the surface. This is due to which of the following
2720359 options?

e i 3 U org & O H ST urt T fha, df I 31 o Tag R 5o BR-91e gued 97 38 €1 U8 Fufiied & ¥ fhy fieed & dRo 2

A These bubbles come from the breaking of water molecules
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A qorgd U el F e A omd ¥

These bubbles come from the air dissolved in water
B

¥ gagd U F geft g & o ¥

These bubbles come from the impurities like dust dissolved in water
C

2 gorgd U A g g S gl @ o ¥

These bubbles come from the minerals dissolved in wat
D

} gorga Ul A ga @ @ o §
Correct Ans : B

Subject : SCIENCE

Q.No: 101 Which of the following property of metal in which metal moulded into wire ?

2720370
uTg o1 Fufifed § ¥ &9 91 7701 § R o1 & aR § 3T s 82
Malleable
A
sraraaed
Sonorous
B
TS
Ductile
C
T
Lustrous
D
TSI

Correct Ans : C

Subject : SCIENCE

Q.No: 102 Plants breathe through special pores in leaves called 'stomata’. Stomata are usually surrounded by a pair of cells.
2720386

T Tt 7 Sy A ARy sl I o4 3 71 38 HaR R BIReprar &) v siel I iR 8 g

Plasma
A
TATSHT
Constrictor
B
Hatoie /derat
Guard
C
hdadqd
Progenitor
D
LGEED

Correct Ans : C


https://applink.adda247.com/d/XhqWf9lSap

Adda ELI 7 GET IT ON

Google Play

Subject : SCIENCE

Q.No: 103 Which of the following teaching aid is used commonly to teach concepts like DNA helical structure, brain structure, magnetism principles, electric circuits,
2720389 respiration mechanism, etc.,?

DNA $8fird TR, Tk W1, doda Riaid, fagg @ afe, 4u7 oF, onfe St srauromsit & el R & forg Fofofed & 3 SF-t Rieor werar et &1 3ua
AR TR febam e 82

Audiotapes

siffegres
Field trip

Qeifore (Bies) amn

Lab manual

A9 A3

Models

o

Harsd

Correct Ans : D

Subject : SCIENCE

Q.No: 104 The pH value of warm water is:

2720407
e Ol 1 pH I T gar 22
9.7
A
9.7
7
B
7
6.14
c
6.14
4
D
4

Correct Ans : C

Subject : SCIENCE

Q.No: 105 The crops which are sown in the rainy season are called:
2720410

auf g & a1 oM arel e FEaART Bl
Kharif Crops

TE HOd

B Rabi crops
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& wua

Zaid crops
C

S vad

None of the given option
D

f T et & @ S T
Correct Ans : A

Subject : SCIENCE

Q.No: 106 1In 1800, a British chemist had shown that if electrodes were immersed in water, and a current was passed, bubbles of oxygen and hydrogen were
2720415 produced. Who was this chemist?

1800 ¥, s fofewr xorms A axifan o1 6 afe 3dagis &1 Uit & garn STl 7, SR U YRT Yalfed & ol &, df SiRiie oI g18g! o & gaqe 397 8id & | I8 I
B UT?

John Dalton

A

S STeed

Ernest Rutherford
B

T TRBIS

Michael Faraday
C

S BRI

William Nicholson
D

faferam e
Correct Ans : D
Subject : SCIENCE

Q.No: 107 The splitting of light into its seven colour components is called _______ of light.
2720424
TSI & 30 T T geah! & Ry 29 & yebr &1 FE1 &I B
Reflection
A
R
Refraction
B
g
Dispersion
Cc
fagrqor

Transmission

Aoy
Correct Ans : C

Subject : SCIENCE
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Q.No: 108 Which of the following is the only non-metal that exists as a liquid at room temperature?
2720436

frofifed & § S1H-91 faswen tHue iuTg § S 99T 919 R &4 & FU H A9g eI 8?2

Fluorine
A

LSEle

Bromine
B

e

Chlorine
C

ESINE]

Iodine
D

TTEH

Correct Ans : B

Subject : SCIENCE

Q.No: 109 Sam wants to teach the photosynthesis process to the class so she mentions the following steps (not in correct sequence) to be followed. Arrange the
2720457 following steps in the correct order.

A. Write your observations and conclude your findings
B. Record your observations
C. Take two plant and keep one in sunlight and other in Darkness

D. Observe the plant for two days

Y DT B YHTR JIATU BT Ufehar RRamT =g 8, suferg g Fafeiad @uil (Fet 0 & 7eY) &1 Ul 31 &1 Swod ol ¢ | i@ =R &1 98! $4 & wafid i)
A. 3T SaaienH foreeT SR S Fsepf &1 THIG R

B. 370 Dol &1 Rl § el

C. A Y A 3R T F yu F SR G B SR F v

D. & faf d& MY w1 Aderor F=e

C-D-B-A
A

C-D-B-A

A-C-B-D
B

A-C-B-D

D-C-B-A
C

D-C-B-A

A-D-B-C
D

A-D-B-C

Correct Ans : A
Subject : SCIENCE

Q.No: 110 Which evaluation will help a teacher to evaluate the attitude of a child toward Science and his/her willingness to learn about the scientific concepts?
2720465
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P G F T e 1 7 & 0l 9= & =D 3R 33 srgyRonsit & R F W B IS THBT T Geied B B Tag HaT?

Cognitive
A
HAATHSD
Psychomotor
B
AR
Affective
C
HIATHD
Both A and C
D
I ARC

Correct Ans : C

Subject : SCIENCE

Q.No: 111 Which of the following is not one of the examples of a technical skill of laboratory?

2720472
frofifed & & $H-91 fAbea FER=IT & dh-ie) BIed B Th I&eR el 82
Using a microscope
A
UISHIRPIY BT START HIAT
Using a Bunsen burner to heat a liquid
B
forelt e @1 T FA P T T T BT IUGRT HIAT
Washing beakers and test tubes
C
e 3R W@l B
Tasting solutions or mixtures after experiment
D

TGRT & 918 O a1 fAgor &1 Wied ST
Correct Ans : D
Subject : SCIENCE

Q.No: 112 A group of teachers have planned to teach students together. If they are teaching and helping students to perform activities then on which stage of team-
2720494 teaching are they?

fRiere & T THg A TP Iy Gl 1 ugr B Ao S 21 e 3 nfafaft @ wen & o fenfial @ uer R § 8k Sl Heg R @ Al 4 dE-
e F g =R R §?

Planning stage

e =R

Execution stage

forarage TR

C Evaluation stage
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i TR0
End stage

3ifaw ==or

Correct Ans : B
Subject : SCIENCE

Q.No: 113 Which of the following method you will use to develop scientific skills in students?
2720517

Terenfal 3 afep epierer faeRid @R & forw anu Rt & J fw R &1 guam w8

Debate competition on nature of science

A
o &t ypfa W are-faare ufmifar
Laboratory work

B
AR HRf
Visiting a science museum

C
T Ry HueTa o1 el §R
Question-answer session

D

Y- 99
Correct Ans : B

Subject : SCIENCE

Q.No: 114 What is the full form of IAU unit?

2722595

TAU 3% &1 gof &9 1 82

International Astronomical Union
A

International Astronomical Unit
B

Inter Astro Union
C

$eR TR g

International Astrological Uniq
D

TR RGP gA®
Correct Ans : A
Subject : SCIENCE

Q.No: 115 The time taken by the reflected light from the Moon to reach the Earth is approximately
2722600

GHT § TRTAf TBT B et qF A H T BT AT @ 2

A 1.8 seconds
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1.8 9%

1.28 seconds
B

1.28 ¥Fs

1.9 seconds
C

1.9 95s

1.7 seconds
D

1.7 9Fs
Correct Ans : B

Subject : SCIENCE

Q.No: 116 __ converts sound energy into electrical energy.
2722607
_ @R Sul & faggd St § uRafdd s B
Telescope
A
(Sl
Generator
B
R
Microphone
(o
HAEHIBH
Magnetism
D
gD

Correct Ans : C

Subject : SCIENCE

Q.No: 117 The most comfortable distance at which one can read with a normal eye is about
2722635

T G 3T Q vga & T 9o SRmemd g T gt 31

45 cm
A

45 H

25 mm
B

25 fipft

25 cm
(o

25 Jt

15 cm
D

15 It

Correct Ans : C
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Subject : SCIENCE

Q.No: 118 acid is used in the manufacture of baking powder.
2722659
T ISR & fmfor & ST BT ITANT FA 71
Sulphuric acid
A
RIS S
Tartaric acid
B
TReR® 3T
Formic acid
C
Wilf® v
Nitric acid
D
Efew s

Correct Ans : B

Subject : SCIENCE

Q.No: 119 Which acid is mainly present in curd?

2722664
%€ ¥ 7o T Y B 1 34 TR ST 82
lactic acid
A
AfFes o
Formic acid
B
wif®
Phosphoric acid
C
BRGNS 3T
Phosphoric acid & Formic acid
D

BRI 3 SR Bi® e
Correct Ans : A
Subject : SCIENCE

Q.No: 120 ___ gasis used in the cigarette lighter.
2722670
e arerd o ygm et
Indane
A
=
Butane
B
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Redon
C

=

Redon & Indane
D

YT IR g3
Correct Ans : B
Subject : SCIENCE

Q.No: 121 Which of the following gas is the most abundant inert gas in the atmosphere?
2722677

frefifea 8 @ oH-3 iy agred § 9a9 TR wEn # oy i 27

Argon
A

sty

Helium
B

e

Neon
C

fata

Helium & neon
D

e ok fata
Correct Ans : A

Subject : SCIENCE

Q.No: 122 Identify the metal among the following -

2722696

et & & urg 1 ug=H i -

Oxygen
A

SHfeie

Nitrogen
B

ELEEEE]

Carbon
C

P

Mercury
D

IRT

Correct Ans : D

Subject : SCIENCE

Q.No: 123 Who out of the following first developed a system of classification of elements and entitled it as Law of Octaves?
2722704
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Frafofed # & f5em 9e9 ugd d@! & e 3 Jomel faeiia $t 3R 39 e & Fem & w0 & i far

John Newlands

A

S g

J W Dobereiner
B

S T SRR

Lothar Meyer
C

R AR

Henry Moseley
D

T A
Correct Ans : A

Subject : SCIENCE

Q.No: 124 What is the periodic recurrence of the properties of elements?

2722705
Tl & O BT Mafies TRy @ 32
Octaves

A
T (M)
Periodicity

B
smafirpar (difvarfsiidt)
Pattern

C
e
Repetitiveness

D

dgwr (Rfifedia)
Correct Ans : B
Subject : SCIENCE

Q.No: 125 What colour powder is produced when iron reacts with water?

2722720

e ® i F ififhar B W e 31 1 o s e 82

Blue
A

e

Brown
B

0T

Black
C

B

D Orange
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araft
Correct Ans : B
Subject : SCIENCE

Q.No: 126 What is a suspension mixture?

2722732

Tt forsyor o &2

Liquid dissolved in a gas
A

9 ® W R

Solid dissolved in liquid
B

wa A ga-sita 3

Liquid dissolved in liquid
C

WA F YT R

Solid dissolved in a gas
D

| ¥ goe=ia s
Correct Ans : B

Subject : SCIENCE

Q.No: 127 Vinegar is the dilute solution of -

2722745
Rt et aq faea 82
Oxalic acid
A
sfqaras TS
Tartar acid
B
TR
Sulphuric acid
C
TR TS
Acetic acid
D

hifes wirs

Correct Ans : D

Subject : SCIENCE

Q.No: 128 The molecular formula of sucrose is -
2722746

YIS BT VD T ¢ -
C11H22012

C1H22012
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CieH2201
B

CieH220n

CroH20011
C

CroH20011

C12H20n
D

C12H20n

Correct Ans : D

Subject : SCIENCE

Q.No: 129 Which of the following is NOT a halogen?

2722753

frofafed & @ 1 gaor Tdt 82

Fluorine
A

LI

Chlorine
B

FA

Bromine
C

Bl

Tellerium
D

tafeaw

Correct Ans : D

Subject : SCIENCE

Q.No: 130 Process of conversion of material from solid state to gaseous state without undergoing into liquid state is called -

2722770
%9 SR J ToR 31 O s | Ay sraen  yerd & SUiaR0 $ ufshar S § -
Ignition
A
Teaer womet (3RR)
Combustion
B
g
Sublimation
c
Iedura
Evaporation
D

arafteRor

Correct Ans : C
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Subject : SCIENCE

Q.No: 131 Alpha-particles have a mass of -
2722777

SHTDT-HUI BT ZHHAH Bl © -

lu
A

lu

2u
B

2u

4u
C

4u

5u
D

5u

Correct Ans : C

Subject : SCIENCE

Q.No: 132 Food safety and standard act 2006, passed by Indian parliament and notified on.
2725702

W Qe 3R AT AT 2006 &, YRdla GO gR1 TR a1 77 ok 39 siftrgfad fovar

23 July 2006
A
23 JaTs 2006
23 June 2006
B
23 T 2006
23 August 2006
C
23 3 2006
23 November 2006
D

23 Fda% 2006
Correct Ans : C
Subject : SCIENCE

Q.No: 133 The world health day is celebrated on?

2725703
3y TRy oW B T AT 87
7 April

A
7 e
1 March

B

1 ard
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6 October
C

6 SIaga

10 December
D

10 R
Correct Ans : A
Subject : SCIENCE

Q.No: 134 The diet of infant should be

2473622
TRIY BT AMER .o, BT A
Soft & Easily digestible
A
Fep1 U gured
Fatty diet
B
THTYHT TER
Spicy & Soft diet
C
TRATAGR TUT FEHT SHTER
Spicy & oily diet
D

TATAGR TUT AT 3MER

Correct Ans : A

Subject : Pedagogy

Q.No: 135 1In which stage of social development is there a feeling of sexual opposition?
2473734

g faeTg Bt i sraur | I faRly &Y Hia T g B 2

Infancy
A

RIBCICEN

Pre childhood
B

qd ST

Childhood
C

TATIRIT

Adolescent
D

frsiRawr

Correct Ans : B

Subject : Pedagogy

Q.No: 136 One of the following is not a principle of development
2474562
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e 3 & Y v fera @1 Rigia 78 @
A reversible process
A
wferardt ufsear
A predictable process
B
S T P ufebar
A dynamic process
C
nfesfier ufebar
A continuous process
D

TP e ufsean
Correct Ans : A

Subject : Pedagogy

Q.No: 137 The Mendel’s law of inheritance does not include?

2477600
Fea & SWIBR & Frgm & wi-ar fram i e 82
Law of dominance
A
Y@ &1
Law of independent assortment
B
WA TGO BT FTA
Law of segregation
C
3T BT B
Law of dependent assortment
D

3nf3a FifRor 1 B
Correct Ans : D

Subject : Pedagogy

Q.No: 138 In which stage the brain of a human grows faster than any other stage in life cycle?

2478875
e = BT et ot 3 Sfa®yT B Gl H A BT HIGTSD by Srae  Jag Ioh § weal 22
Adolescence
A
fraiRTaw
Prenatal
B
S & qd &7
Childhood
c
T

D old age
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gerar
Correct Ans : C

Subject : Pedagogy

Q.No: 139 Kohlberg’s theory does not focus on which of the following?
2479253

P o Rigid Fafifed & 4 fea w $iga 76t 82

Thinking process occurs when one decides whether a behaviour is right or wrong.

A
HraA 31 ufear a9 gl } 919 1< g5 79 a1 3 5 IS awR wd § A e
How one decides to respond to a moral dilemma.
B
TP Afw gfaer &1 war 3 BT Haar H a9 B1
How one decides on what one actually does.
C
IS IRAT A T HRAT ¢, 39 W Fofa FR A9 R
Children as the subject of a research.
D

Y F fawg & wu & 741

Correct Ans : C

Subject : Pedagogy

Q.No: 140 Which of the following stages is given by Lawrence Kohlberg?
2479304

fFeffad & ¥ FF 91 TR0 aRY Hiae gRY e mr 32

Sensorimotor stage

A
AR T
Preoperational stage
B
qd-Tara W
Concrete operational stage
C
Td wiparas wRr
Instrumental purpose orientation stage
D

Tife wnifdre sfingaer avur
Correct Ans : D

Subject : Pedagogy

Q.No: 141 Which of the following options does not belong to Progressive learning of education?
2479489

Fraffed § 9 @i 91 e wriashia fRien & F&ite 7 82

Strict discipline

aed S
B Problem Solving
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JURT B AT

Child should be treated like a plant

= T WY Y T @ MY

Children should construct their own knowledge.

Tl B U FH BT AT Wd ST @i
Correct Ans : A

Subject : Pedagogy

Q.No: 142 According to the Multiple Intelligence theory of Gardner, which of the following involves the ability to perceive pitch and rhythms?
2479765

TR ¥ vg-g< Rigid ¥ ogaR, g 3 I pad wR-yauer (=) ik @ (aw) &1 gagm &) & e 82

Linguistic intelligence

A
urrg 3 (Rimfafees $2fedia)
Musical Intelligence

B
witifas gis (Fgfea gefosia)
Logical-mathematical intelligence

C
afbe-irdg gfS (afema-tuifera s
Body-Kinesthetic Intelligence

D

IifYe-TIfoRidg g (SiSl-frmwesfes $efersiv)
Correct Ans : B

Subject : Pedagogy

Q.No: 143 Which of the following option is an effective way to ensure emotional development of students?

2480206
Fafared & ¥ $H-11 e BEl F HIaTHs [ B gRa B 3t e gy wfisar 82
The teacher must interact with the parents of a student to know more about the student and encourage them to be involved in their child's
activities in and out of home and school.
A
e @) B & Tay # 3t AFER! U $1 & O vE B F Aral-
e ¥ w1y Harg T AR SR SR W SR T@a ¥ SR SR aTeR g arelt o w= Y wfafal  wifa 9 ¥ Re Mienfya s ol
The teacher should steer clear of the socio-cultural context of a student.
B
fiere ot o & IE-vipiae e § gR e Tfu
The teacher should not interfere with the quality of nutrition received by the student.
C
e B B TRT UTE UIW0T B Jorawr § &Y T ST A1y
The teacher must highlight the ailments suffered by a student in the class and bring it to the notice of the school authorities.
D

e B Fem A freh o A Tl TERaTst B SUTR BT 91T SR 3 Tpa Afeiival F wEE & @ kel
Correct Ans : A

Subject : Pedagogy
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Q.No: 144 Article 267 is related to which of the following?

2650133
3FT=g-267 Frefiied # § el Jeifia 22
Supreme court
A
SdqH grATad
Attorney General
B
HETATgardt
President's Rule
C
rgafa A
Contingency Fund
D

e A

Correct Ans : D

Subject : Gen. Gnowledge &Current Affa.

Q.No: 145 Bronchi is a part of which of the following in the human body?
2650196

St (Bronchi) AME TRR # Fafeidd & & fewer we e 87

Lungs
A
L
Large Intestine
B
ST 3rid
Heart
C
T
Stomach
D
SHTR™

Correct Ans : A

Subject : Gen. Gnowledge &Current Affa.

Q.No: 146 “To Hell with Hockey” is the biography of?
2651633

2 34 fag giat fraa shat &7

Mandeep Singh

T Rig

Roop Singh Bais

U Rig ¥

C Aslam Sher Khan
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3T W T

Dhyan Chand

&= g

Correct Ans : C

Subject : Gen. Gnowledge &Current Affa.

Q.No: 147 The book titled 'Vijyant at Kargil: The Life of a Kargil Hero' is biography of which Kargil hero?

2652081
oo Te HRMA: € AR S T HRMA ERI' A6 s 50 FRA 106 &1 et 32
Balwan Singh
A
Foa Rig
Vijyant Thapar
B
foerda aT=
Vikram Batra
C
fapw &
Yogendra Singh Yadav
D

g g area
Correct Ans : B

Subject : Gen. Gnowledge &Current Affa.

Q.No: 148 Express the following ratio in the simplest form.

2716880
2290 : 1480
U B WRATH TY H I B
2290 : 1480
451 :741
A
451 :741
229: 148
B
229: 148
521:191
C
521:191
353:121
D
353:121

Correct Ans : B

Subject : Gen. Reasoning (Numerical Abi.

Q.No: 149 1In a row of children, Deepa is 9th from the left end and Kajal is 13th from the right end. If their positions are interchanged, Deepa becomes 18th from the
2726827 |eft. What is the new position of Kajal from the right end of the row?
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78?2

22

22
25

25
27

27
33

33
Correct Ans : A

Subject : Gen. Reasoning (Numerical Abi.

Q.No: 150 If on 12 January 1980, it was Saturday, which day was it of the week on 12 January 1979?
2726840

T 12 TG 1980 & WHAR T, @ 12 SFa 1979 HY IS HT S 1 a7 U

Sunday
A

QCEIN

Monday
B

GG

Thursday
C

EGRICEIN

Friday
D

hAR

Correct Ans : D

Subject : Gen. Reasoning (Numerical Abi.
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